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BT T2 MRl T8 T =% BT % Mg T8 T =%
HX 40,497 85938 40,948 44,990
RIRET1T 6 15 9 6
RIRET2T 27 58 28 30
RIRET3T 179 584 283 301
RIRET4T 417 976 479 497
B 629 1,633 799 834
REH 2,753 6,136 2,864 3,272
L&A 4,332 9,350 4,349 5,001
5E 2,652 5,837 2,824 3,013
B AN 1,330 2,840 1,336 1,504
BERT 1,397 1,936 933 1,003
BER2T 904 1,570 760 810
BERST 754 1,809 872 937
B 3,055 5,315 2,565 2,750
BEXRE 285 642 310 332
[N 2,190 4,811 2,292 2,519
hERE 645 1,423 657 766
e 2,442 4,981 2,410 2,571
25 L ET 2,325 4,975 2,390 2,585
B &AL BT 75 149 62 87
HEFILET1T 565 1,209 564 645
HEFILET2T 604 1,243 590 653
HEZFILAT3T 694 1,551 758 793
g 1,938 4,152 1,974 2,178
B & it B Fr ET 679 1,517 730 787
BHEREBET1T 584 1,170 576 594
BHERERET2T 762 1,704 824 880
BHERERETST 804 1,592 721 871
BHERERET4T 508 927 430 497
HEKERETST 827 1,644 785 859
HEERET6T 888 1,880 908 972
BHERERET7T 891 1,825 892 933
HERERETST 72 204 99 105
£t| 5336 10,946 5,235 5,711
HEF R FET 2,012 4117 2,009 2,108
S|EFET1T 641 1,590 790 800
S|EFET2T 766 1,717 808 909
S|EFET3 T 747 1,364 630 734
g 2,154 4671 2,228 2,443
ERE1T 583 1,313 627 686
EIRET2T 387 1,030 510 520
EREIST 519 1,317 643 674
EIRETAT 698 1,443 639 804
EIZEIST 548 1,180 582 598
g 2,735 6,283 3,001 3,282
M EFHE 2,899 6,122 2,883 3,239
J\THET1T 33 35 18 17
J\THET2T 24 51 27 24
J\THEI3T 49 101 47 54
B 106 187 92 95
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